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7 100kN/mZE#BZ5 | 1.00 000 ~ 158 124.05 |3mEBZB| — ~ — — — | 100kN/mMZEBZ2 | 1.00 | 1080 ~ 1695 124.05 |3mE#BZ% — ~ — — —
zhils 1.00 | 1.58 ~ 936 100.00 | £hs | 0oo ~ 9.36| 226 11.42 Th st 1.00 ]| 500 ~ 1080 100.00 | Fhs | 500 ~ 1696 | 226 11.42
2 100kN/mMZE#BZ5 | 1.00 1000 ~ 1.75| 12689 |3mEBZB| — ~ — — — | 100kN/miZEBZ2 | 1.00 | 1078 ~ 1682 126.89 |3mE#B2% — ~ — — —
zhils 1.00 175 ~ 954 100.00 | Fhs | 0oo ~ 954 2.50 12.65 Th st 1.00 | 500 ~ 1078 100.00 | Fhs | 500 ~ 1682 2.50 12.65
3 100kN/mM%EBZ5 | 1.00 | 000 ~ 131 119.86 |3mEEZZ| — ~ — — — | 100kN/miZE#BZ2 | 1.00 | 1121 ~ 1665 119.86 |3mE#BZ% — ~ — — —
zhils 1.00 | 1.31 ~ 910 100.00 | £hs | 0oo ~ 9.10| 220 11.12 Th st 1.00 | 5.00 ~ 1121 100.00 | Fhst | 5,00 ~ 1666| 2.20 11.12
4 100kN/M%E#B 2% — -~ - —|3mzBZB — ~ — — — | 100kN/mi%# 8% % — -~ — —|3mZEEBAD - ~ — — —
Th st 1.00 1000 ~ 775 99.52 | #n4 | 000 ~ 775| 1.94 9.79 zns 1.00 | 500 ~ 1240 99.52 | #n4S | 5,00 ~ 1240| 1.94 9.79
5 100kN/mMZE#BZ5 | 1.00 000 ~ 276 | 143.63 |3mEBZB| — ~ — — — | 100kN/mM%x# 25| 1.00 | 1103 ~ 3285 143.63 |3m&Eiz2% — ~ — — —
Thsth 1.00 276 ~ w55 100.00 | Thst | 000 ~ 1055 2.95 14.93 zhis 1.00 | 5,00 ~ 1103 100.00 | Thbs | 500 ~ 3285 295 14.93
g 100kN/mM%E#BZ5 | 1.00 1000 ~ 279 | 144.09 |3mEBZB| — ~ — — — | 100kN/miZEBZ2 | 1.00 | 11.14 ~ 3715 144.09 |3mE#8Z5 — ~ — — —
Th st 1.00 1279 ~ wss| 100.00 | Fhs | 0.00 ~ 1058 2.94 14.84 zhils 1.00 | 5,00 ~ 1114 100.00 | Thds | 500 ~ 3715 2.94 14.84
7 100kN/m%EBZ5 | 1.00 | 000 ~ 317| 150.63 |3mEBZD| 000 ~ 107|348 17.60 | 100kN/m%E A5 | 1.00 | 1080 ~ 4201 150.63 | 3mE#Z2 3| 3000 ~ 4201 3.48 17.60
Th s 1.00 ) 317 ~ w95 100.00 | Fhs | 1.07 ~ 1095 3.00 15.16 zhils 1.00 | 500 ~ 1080 100.00 | Fhs | 500 ~ 3000 3.00 15.16
g 100kN/m%E8BZ5 | 1.00 | 000 ~ 326 15215 |3mEBZD| 000 ~ 1.08)| 349 17.65 | 100kN/m&E#Z5 | 1.00 | 1076 ~ 46564 15215 |3mERZB| 3000 ~ 4564 | 349 17.65
Th s 1.00 | 326 ~ 1o4| 100.00 | Fhs | 1.08 ~ 1104] 3.00 15.16 zhils 1.00 | 500 ~ 107 100.00 | Fhs | 500 ~ 3000 3.00 15.16
9 100kN/m%E#8Z2%5 | 1.00 | 000 ~ 314 150.11 |3mZEEZ 2| 000 ~ 103|346 17.50 | 100kN/mM&E#EZ5 | 1.00 | 1087 ~ 4550 150.11 |3m&ERZB| 2000 ~ 4550| 8,46 17.50
Th s 1.00 ) 314 ~ w92 100.00| Fhs | 105 ~ 1092] 3.00 15.16 zhils 1.00 | 500 ~ 1087 100.00 | Fhs | 500 ~ 40.00| 3.00 15.16
10 100kN/m%EBZ5 | 1.00 | 000 ~ 305| 1[48.66 |3mEBZD| 000 ~ 099 | 344 17.39 | 100kN/m&E#EZ5 | 1.00 | 1095 ~ 4430 14856 |3m&ERZB| 2000 ~ 44.30| 3. 44 17.39
Th s 1.00 | 305 ~ ws4| 100.00 | Fhs | 099 ~ 1084 3.00 15.16 zhils 1.00 | 500 ~ 1095 100.00 | Fhs | 500 ~ 40.00| 3.00 15.16
100kN/M%E#B 2% ~ 3ImEEBAD ~ 100kN/ Mm% 2% ~ 3mEHEADS ~
zh st ~ zh st ~ zh st ~ zhst ~
100kN/M%E#B 2% ~ 3ImEEBAD ~ 100kN/M% 2% ~ 3mEHEADS ~
zhst ~ zh st ~ zh st ~ zh st ~
100kN/M%E#B 2% ~ 3ImEEBAD ~ 100kN/ Mm% 2% ~ 3mEHEADS ~
zh st ~ zh st ~ zh st ~ Thst ~
100kN/M%E#B 2% ~ 3ImEEBAD ~ 100kN/M% 2% ~ 3ImEHEADS ~
zhst ~ zh st ~ zhst ~ zh st ~
100kN/M%E#B 2% ~ 3ImEEBAD ~ 100kN/M% 2% ~ 3mEHEADS ~
zh st ~ zh st ~ zh st ~ zh st ~
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